3 (Sem~3) STS
2017

STATISTICS
( General )

Full Marks : 40
Time : 2 hours
The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x4=4
TS e oI Teg e
fa) Define population.
e et |
(b) The g, column of a life table is called

( Fill up the gap )
Gl wiferrs Gy BSF ___ (PRI |
( 3R 37 o9 390 )
{c) Define null hypothesis.
e oogs s i |

(d)} Regression coefficient byy = by,.
( Write True or False )

S 255 by, = by
( 31®1 7 =Ty foran )
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2. Answer the following questions :

(2)

Toq HCPR0E veq 9

(@

(b)

()

Distinguish between parameter and
statistic.

/155 o aferfes e« fora |

Explain ‘expectation of life’.
TR e I 1 |

Prove that correlation coefficient is the
geometric mean between two regression
coefficients.

A F @ TDTIR BIRE T AR BT
TR BLATEI TGS | ’

3. Answer any two questions from the

following :

@ & (ICA o1 9 Ted A1

(@)

(b)

8A/26

Prove that correlation coefficient {r) lies
between —1 and +1, ie, -1<r<l

A ¥ @ EE QT (T AW -1 "E
+1-9 TS A0, SR ~1<r <L

Define sampling distribution and
standard error. Explain the uses of
standard error.

Afesa 309 o amfie wfbe e R
o Fiby IITIRR fordn |

( Continued )

2x3=6

5x2=10

(3)

(c) Define partial correlation coefficient and
state its uses.

o ToEE edKed IK®El T e WE
TREAER fordn |

(d) What is life table? Describe the different
columns of a complete life table.

S wiferpl T & 2 7oy & iferer Rfen
A I A |

Or / «1341

Prove that Net Reproduction Rate
(NRR) < Gross Reproduction Rate (GRR).

AT T @ A4S e Y (NRR) < &
#ewe T4 (GRR).

4, Answer any two gquestions from the
following : 10x2=20
oo R e ot o Teg 9

(a) ) What is principle of least squares?
State the properties of least squares

estimators. 2+3=5
Jrew efq A o pEen o
SFEEd G o |

(i) What is scatter diagram? Explain
the importance of scatter diagram.
‘ 2+3=5
off Bz Wwwm B2 oFf B
SN T 9
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(4)

(b) (i) Define F-statistic. = State its
applications in Statistics. 2+5=7
F-offorfam swe fan ) oforyn Rerme
B[ IR SeEy ¥4

(i) We have always two lines of
regression. Why? Explain. 3

wif e e TR @9 R 39ER
T2 M A4
(¢) (i) Define %2 (chi-square) statistic.
State its applications. 2+5=7
2-dforfs 7 WR IRREEE S
3401
(i) Explain different mortality rates. 3
e «ao TR IR T 40
(d) Write short notes on any two of the
following : : 5x2=10
ol R CRIC BR SRE (BTt ford
(i) Student’s t-statistic
Srw t-oifomts
(i) Multiple correlation coefficient
EERIENEEIRCR IS
(iti) Birthrates and fertility rates
T 2{ EF TIGOR T
(iv) Mulitiple linear regression
72 (AR T
{v) Product moment correlation
coefficient '
R T HDTTR T
* & ok
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